A 8-
=

Zongssb Wove Lite = W

(6) (é0)

= uoq"f iy

2> =035 (E[;Ze 12-1)

"
e, = ok = 154-#o

%l;é-“ in Jhr- (Pg.}zaz) = (J= CI/LS\ = (6+4)(0:35) (54)

are Qe 1?60

rQ =2z &
e

QA==192.3 =192.3 = \ﬁ)(%b)(%)%\/;

[]) =4 38 Pk = UG 6

buse. L/é inch



K: X Gqﬂ@ /2fé)
L""‘ O{o% Dy S= oo 5 Q=350 Chs

A; us B

= K-43 | =, V=Q/f =F.295s
//Q 52 171 B

H =139 (J@fom euatin (129 @U

L

= 607’ . = 2 79/— => ho= meX | 4.5
e (%’Jﬂ e é%,rg)/z

L o= Mas £k

 HW= H4o —sL= 115 +Uap —09q = By £

=5 5044 < 46— @




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

